SMA3
TYPE SPRING MOUNT

(HXHLR| : 75mm)

—

EEr

SMA2 TYPED} EA 31 A ZHoLt HAHL|7} 75mmel AZZS ARSI
2 SMA2 TYPEEL} S Mast S2ls & 27t A= B0l ArSsitt

— =
THHZI0|7} 6~9mmO| EHH|e| TR EI=4T} 8.3Hz(500RPM)O|

SLABZ2| sfel
2Eo| EX|== ol MESIC ofm, WEIAARO| TREISSIt 2Hz OJ2
0|5 HAFSHL|7} 60mmoO|4o| =i it
HNEL +4
No. =3 NIES] 4
1 Non Skid Pad CR KS M 6617
2 Lower Spring Cap Base Plate SS400 KS D 3503
SUP9 KS B 2402
3 Coil Spring
HSW3 KS B 2403
4 Upper Spring Cap SS400 KS D 3503
Level Bolt SS400 KS B 1002
Cap Screw SS400 KS B 1002
HEQ 2=
o YNTO| IRE YIS
° 58719 1§88 YWIE(X|YS)
o X719 158 YWIIE(XYSB)
o J7|Et 0| 27kl FH|2l 158 WEE

DIMENSION & SELECTION GUIDE BY LOADS

voe e Az Ms| = st Dimension(mm)
(kgf) (kgf/mm) (k) A B (o} D H Level Bolt Cap Screw
SMA3-A-200 200 2.7 8.1 White
SMA3-A-300 300 40 81 Orange 190 170 138 14 230 M20 x 110 M12 x 25
SMA3-B-400 400 5.3 8.2 Pink
SMAS3-B-500 500 6.7 9.5 Green
SMA3-B-600 600 8.0 9.7 Blue 190 170 138 14 253 M20 x 110 M12 x 25
SMA3-B-750 750 10.0 9.7 Black
SMA3-B-1000 1000 13.3 9.8 Yellow
SMA3-C-1200 1200 16.0 14.8 Red
SMAS3-C-1500 1500 20.0 14.9 Black
SMA3-C-1800 1800 24.0 15.2 Blue 214 184 162 14 289 M24 x 140 M12 x 40
SMA3-C-2000 2000 32.0 15.5 Yellow
SMAS3-C-2500 2500 33.3 15.6 Brown
SMAS3-D-3000 3000 40.0 241 White
SMA3-D-3500 3500 46.6 25.2 Black 260 234 204 16 329 M24 x 140 M12 x 40
SMA3-D-4000 4000 53.3 26.8 Orange
(NOTE) 2 727 U XE MEe| M5 U EZUHMS s AFH ol glo] HA & & UASLIch




